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Figure A4: Scatterplots of concordance correlation coefficients between reader 1 and reader 2

at the Time 1 and at Time 2 regarding whole tumor (WTu) apparent diffusion coefficient (ADC)

maximum (A,B), WTu ADC mean (C,D), and WTu ADC minimum (E,F).

1000
L

regression line

y=0 is line of perfect average agreement

Difference of R1_T1_Wtu mean ADC and R2_T1_Wtu m

°

o
S
o

1000 1500 2000
Mean of R1_T1_Wtu mean ADC and R2_T1_Wtu mean ADC

T
2500

observed average agreement
regression line

95% limits of agreement

71000
Il

regression line

TIME 1 TIME 2

S Eo
2 o 28
=8 | =9
& . =2
;. ° g
i o
== =
5 6o o o =
(&} )

o ] Qo
2s | oo oo ° as |
X S
g A
28 §o

o =
= £S |
= ng
'_Io [ap)
TS l >
5% o £8
8 10‘00 2060 3000 4060 g‘g’ b y j !
& ' o 5000 10000 15000
§ Mean of R1_T1_Wtu max ADC and R2_T1_Wtu max ADC é Mean of R1_T2_Wtu max ADC and R2_T2_Wtu max ADC
o observed average agreement 95% limits of agreement = .

o observed average agreement 95% limits of agreement

y=0 is line of perfect average agreement

Difference of R1_T2_Wtu mean ADC and R2_T2_Wtu

-1000

o o o
21 =8
w0
o °
° o °
° °
o © © ° 3 o % o °o o

=) o o N 00 ® o ° o

S A e o _

° ° B N N

° o . % % © °o 8 o °
=3 ° ° ° o ° °
= o % ° °
7 o o °

° ° 3
! 19
o S |
=3
S I
< e °

]
o
o

1000 1200 1400 1600
Mean of R1_T2_Wtu mean ADC and R2_T2_Wtu mean ADC

T
1800

observed average agreement

regression line

95% limits of agreement

y=0 is line of perfect average agreement

o

y=0 is line of perfect average agreement

regression line

observed average agreement

y=0 is line of perfect average agreement

regression line

=
28 | 2 -
=R =3 °
- o S
:| :, o
o

B ¥ s e
I3=8 o 2 °
c2 o® © °
o o
a ° 80 E _
E *° ° i %00, > o =
£ o ° ES %0 °
EERE 337
= > o : g ° .
= S
o o FS °
x < ° oo
58 | o Zg

=}
g% 7 i ‘ ol 82 L ‘ ; ‘
< 0 500 1000 1500 8%
o i i c 0 200 400 600 800
= Mean of R1_T1_Wtu min ADC and R2_T1_Wtu min ADC
g - - i g Mean of R1_T2_Wtu min ADC and R2_T2_Wtu min ADC
a observed average agreement 95% limits of agreement E

95% limits of agreement

y=0 is line of perfect average agreement



